

**M.S.P.MANDAL'S****DEOGIRI COLLEGE (AUTONOMOUS), CHHATRAPATI SAMBHAJINAGAR.**

(An Autonomous College Affiliated to Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar)

Second Year B.A.,B.Com.,B.Sc., BBA,BCA. & B.Voc. Third Semester (NEP-20 Pattern)**Examination Programme OCT/NOV. 2025.**

The examination shall be held on the days, dates and time mentioned below at Deogiri College center simultaneously.

Subject:AEC, GE/OE,VEC,VSC,Major,Minor & CC

(Ability Enhancement Course,Open Elective, Value Education Course ,Vocational Skill Course ,Major,Minor and Curricular Course)

EXAMINATION OCT/NOV-2025 TIMETABLE (REGULAR)

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Thursday 6/11/2025 DAY-01	2.00 PM To 3.00 PM	Compulsory paper for all faculties B.A/B.Com/B.Sc (All)/BCA (Mgt.)/BBA/BCA Sci./B.Voc Sem-III rd	AEC-3/ENG/T/310	English English for All - I
			AEC-3/HIN/T/310	Hindi Hindi Ghazal Sahitya
			AEC-3/MAR/T/310	Marathi Sanhita Lekhan Sankalpana Va Swarup
			AEC-3/SAN/T/310	Sanskrit Sanskrit Kaviparichyah
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Sc Sem-III rd	GE/OE-3/COMM/T/307	Commerce Fundamentals of Banking
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/ANA/T/307	Analytical Chemistry Kitchen & Daily Life Chemistry
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/BOT/T/307	Botany Medicinal Botany
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/CHE/T/307	Chemistry Enviromental Pollution
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/COM/T/307	Computer Science ICT Uses & Rules
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/ELE/T/307	Electronics Basics of Sensors
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/ENV/T/307	Environment Science Wildlife Conservation & Management
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/GEO/T/307	Geology Introduction to Precious & Semiprecious Minerals
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/INS/T/307	Instrument Practice Fundamentals of Control System
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/MAT/T/307	Mathematics Mathematics for Competitive Exams - I
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/MIC/T/307	Microbiology Food Fermentation
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.A/B.Com/BBA/BCA (Mgt.), Sem-III rd	GE/OE-3/PHY/T/307	Physics Matter in Physics
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/DRA/T/307	Dramatics Play Production & Performances
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/ECO/T/307	Economics Banking Structure in India
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA Mgt/B.Sc, Sem-III rd	GE/OE-3/ENG/T/307	English Developing English Language Skills - I
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/HIN/T/307	Hindi Katha Dwadashi
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/HIS/T/307	History History of Chhatrapati Shivaji Maharaj
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/HOM/T/307	Home Science Event Management

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/MAR/T/307	Marathi Katharang
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/MUS/T/307	Music Introduction to Instrumental Studies of Harmonium - III
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/POL/T/307	Political Science Indian Government & Politics - I
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA Mgt/B.Sc, Sem-III rd	GE/OE-3/PSY/T/307	Psychology Understanding Emotions
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/PUB/T/307	Public Administration District Administration
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/SAN/T/307	Sanskrit Kathavangmay - Parichayah
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Com/BBA/BCA (Mgt.)/B.Sc, Sem-III rd	GE/OE-3/SOC/T/307	Sociology Social Development in India
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	BCA Science. Sem III rd	GE/OE-3/BCAS/T/307	BCA Sci, Data Structures
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	Bioinformatics Sem III rd	GE/OE-3/BBI/T/307	Bioinformatics Data Structures & Algorithm
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	Biotechnology Sem III rd	GE/OE-3/BBT/T/307	Biotechnology Biostatistics
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Sc. Computer Science (BCS) Sem III rd	GE/OE-3/BCS/T/307	B.Sc. Computer Science Software Engineering
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Sc. Data Science Sem III rd	GE/OE-3/BDS/T/307	B.Sc. Data Science Data Communication Network
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Sc. Forensic Science Sem III rd	GE/OE-3/BFS/T/307	B.Sc. Forensic Science Bhartiya Nyay Sanhita (BNS)
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	Information Technology Sem III rd	GE/OE-3/BIT/T/307	B.Sc I.T Enterprise Resource Planning
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	Jewellery Design & Gemology Sem III rd	GE/OE-3/BJG/T/307	B.Voc. Jewellery Design & Gemology Introduction to Design on Computer
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Voc. Multimedia & Animation Sem III rd	GE/OE-3/BMA/T/307	B.Voc. Multimedia & Animation Traditional & Digital Painting
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Voc. Music Sem III rd	GE/OE-3/BMU/T/307	B.Voc. Music Abhang (Nirupan & Analytical Study) - I
Saturday 8/11/2025 DAY-02	2.00 PM To 3.00 PM	B.Voc. Theatre & Stage Craft Sem III rd	GE/OE-3/BTS/T/307	B.Voc. Theatre & Stage Craft Basic Photography
Tuesday 11/11/2025 DAY-03	2.00 PM To 3.00 PM	Compulsory paper for all faculties B.A/B.Com/B.Sc (All)/BCA (Mgt.) /BBA/BCA Sci./B.Voc Sem-III rd	VEC-2/ENV/T/311	Environmental Science Environmental Studies
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/DRA/T/308	Dramatics Acting, Dance, Music - I
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/ECO/T/308	Economics Cooperative Skills
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/ENG/T/308	English Communicative English
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/HIN/T/308	Hindi Hindi Cinema Parichay
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/HIS/T/308	History Study of Museology

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/HOM/T/308	Home Science Warli Arts Painting
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/MAR/T/308	Marathi Marathi Bhasha va Vyakaran Bhag -2
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/MUS/T/308	Music Introduction to Indian Light Vocal (Abhang, Bhupali) - I
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/POL/T/308	Political Science Constitutional Bodies
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/PSY/T/308	Psychology Self Awareness
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/PUB/T/308	Public Administration Administrative Leadership & Communication Skills
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/SAN/T/308	Sanskrit Sanskritsabhshitanjali
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.A, Sem-III rd	VSC-2/SOC/T/308	Sociology Medical Sociology
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/ANA/T/308	Analytical Chemistry Industrial Chemistry - I
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/BOT/T/308	Botany Soil Testing
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/CHE/T/308	Chemistry Instrumental methods of analysis
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/COM/T/308	Computer Science An introduction to PHP
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/ELE/T/308	Electronics PCB Designing
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/ENV/T/308	Environment Science Water Management
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/GEO/T/308	Geology Geological Mapping
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/INS/T/308	Instrument Practice Measuring Devices
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/MAT/T/308	Mathematics Programming in Python - I
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/MIC/T/308	Microbiology Clinical Pathology
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/PHY/T/308	Physics Measuring Instruments
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc Sem-III rd	VSC-3/ZOO/T/308	Zoology Beekeeping
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	BBA Sem-III rd	VSC-2/BBA/T/308	BBA Goods & Service Tax (GST)
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	BCA Mgt Sem-III rd	VSC-2/BCAM/T/308	BCA Mgt Java Script
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	BCA Science Sem-III rd	VSC-3/BCAS/T/308	BCA Sci Digital Marketing
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B. Com. Sem-III rd	VSC-2/COMM/T/308	Commerce Advanced Computerized Accounting - II
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Bioinformatics Sem-III rd	VSC-3/BBI/T/308	Bioinformatics Basic JAVA & BioJava

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Biotechnology Sem-III rd	VSC-3/BBT/T/308	Biotechnology Enzyme Technology
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	B.Sc. Computer Science Sem-III rd	VSC-3/BCS/T/308	B.Sc. Computer Science Relational Database Management System
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Data Science Sem-III rd	VSC-3/BDS/T/308	B.Sc Data Sci. Data Visualization using Power BI
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Forensic Science Sem-III rd	VSC-3/BFS/T/308	B.Sc Forensic Science Forensic Physics & Ballistics
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Information Technology Sem-III rd	VSC-3/BIT/T/308	B.Sc IT Basics of Android
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Jewellery Design & Gemology Sem-III rd	VSC-3/BJG/T/308	B.Voc Jewellery Design & Gemology Advanced Jewellery Manufacturing
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Multimedia & Animation Sem-III rd	VSC-3/BMA/T/308	B.Voc Multimedia & Animation Digital Storytelling & Film Studies
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Music Sem-III rd	VSC-3/BMU/T/308	B.Voc Music Introduction to Instrumental Studies to Acoustic Tanpura - I
Thursday 13/11/2025 DAY-04	2.00 PM To 3.00 PM	Theatre & Stage Craft Sem-III rd	VSC-3/BTS/T/308	B.Voc Theatre & Stage Craft Introduction of Dance
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/DRA/T/301	Drama History of Indian Theatre - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/ECO/T/301	Economics Macro Economics
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/ENG/T/301	English Elizabethan Age
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/HIN/T/301	Hindi Prayojanmulak Hindi Bhag - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/HIS/T/301	History Political History of Delhi Sultanate (1206-1526)
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/HOM/T/301	Home Sci. Family Economics & Resource Planning
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/MAR/T/301	Marathi Aadhunik Marathi Wadmayacha Itihas (1818- 1920) - Bhag I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/MUS/T/301	Music History & Development of Indian Classical Music - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/POL/T/301	Political Science Government & Politics of Maharashtra - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/PSY/T/301	Psychology Child Development
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/PUB/T/301	Public Administration Personnel Administration
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/SAN/T/301	Sanskrit Sanskrit Kovid Bhaag -1 - Charudattam
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-5/SOC/T/301	Sociology Transformation in Social Institution
Saturday 15/11/2025 DAY-05	2.00 PM To 4.00 PM	BBA Sem-III rd	DSC-7/BBA/T/301	BBA Direct Taxation
Saturday 15/11/2025 DAY-05	2.00 PM To 4.00 PM	BCA (Mgt.) Sem-III rd	DSC-7/BCAM/T/301	BCA Mgt DBMS

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Saturday 15/11/2025 DAY-05	2.00 PM To 4.00 PM	B.Com Sem-III rd	DSC-7/COMM/T/301	Commerce Corporate Accounting - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	BCA Science Sem-III rd	DSC-13/BCAS/T/301	BCA Science Web Fundamentals
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Bioinformatics Sem-III rd	DSC-13/BI/T/301	Bioinformatics Methods in Bioinformatics
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Biotechnology Sem-III rd	DSC-13/BBT/T/301	Biotechnology Cell Biology
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Computer Science Sem-III rd	DSC-13/BCS/T/301	Computer Science Advanced Data Structure
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Data Science Sem-III rd	DSC-13/BDS/T/301	Data Science Foundation of Data Science with Python
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Forensic Science Sem-III rd	DSC-13/BFS/T/301	Forensic Science Advanced Forensic Science - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Information Technology Sem-III rd	DSC-13/BIT/T/301	Information Technology Programming in CPP
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Jewellery Design & Gemology Sem-III rd	DSC-13/BJG/T/301	B.Voc. Jewellery Design & Gemology Synthesis Gemstone
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Multimedia & Animation Sem-III rd	DSC-13/BMA/T/301	B.Voc. Multimedia & Animation 3D Modeling & Texturing
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Music Sem-III rd	DSC-13/BMU/T/301	B.Voc. Music Introduction to Classical Vocal - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Theatre & Stage Craft Sem-III rd	DSC-13/BTS/T/301	B.Voc. Theatre & Stage Craft Indian Theatre - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Analytical Chemistry Sem-III rd	DSC-5/ANA/T/301	Analytical Chemistry Electroanalytical Techniques
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Botany Sem-III rd	DSC-5/BOT/T/301	Botany Diversity of Seed Plants (Angiosperms)
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Chemistry Sem-III rd	DSC-5/CHE/T/301	Chemistry Organic Chemistry - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Computer Science Sem-III rd	DSC-5/COM/T/301	Computer Science Programming in C++
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Electronics Sem-III rd	DSC-5/ELE/T/301	Electronics Analog Circuit Design
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Environment Science Sem-III rd	DSC-5/ENV/T/301	Environment Science Air, Water and Soil Pollution
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Geology Sem-III rd	DSC-5/GEO/T/301	Geology Introduction to Petrology
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Instrument Practice Sem-III rd	DSC-5/INS/T/301	Instrument Practice Digital Electronics - I
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Mathematics Sem-III rd	DSC-5/MAT/T/301	Mathematics Calculus
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Microbiology Sem-III rd	DSC-5/MIC/T/301	Microbiology Immunology and Clinical Microbiology
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Physics Sem-III rd	DSC-5/PHY/T/301	Physics Modern Physics
Saturday 15/11/2025 DAY-05	2.00 PM To 3.00 PM	Zoology Sem-III rd	DSC-5/ZOO/T/301	Zoology Cell Biology
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A. Sem-III rd	DSC-7/DRA/T/303	Drama History of World Theatre - I

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/ECO/T/303	Economics Money Banking and Finance
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/ENG/T/303	English 17th Century English Literature
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/HIN/T/303	Hindi - Lambi Kavita
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/HIS/T/303	History CulturalHistory of Delhi Sultanate (1206-1526)
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/HOM/T/303	Home Sci Introduction to Textiles & Clothing
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/MAR/T/303	Marathi Aadhunik Marathi Wadmayacha Itihas (1818-1920) - Bhag 2
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/MUS/T/303	Music Science of Music - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/POL/T/303	Political Sci International Releations - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/PSY/T/303	Psychology Psychological Testing
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/PUB/T/303	Public Administration Indian Local Self Government
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/SAN/T/303	Sanskrit Meghadudam
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	B.A, Sem-III rd	DSC-7/SOC/T/303	Sociology Society through gender lance
Tuesday 18/11/2025 DAY-06	2.00 PM To 4.00 PM	BBA Sem-III rd	DSC-8/BBA/T/302	BBA Financial Modeling
Tuesday 18/11/2025 DAY-06	2.00 PM To 4.00 PM	BCA (Mgt.) Sem-III rd	DSC-8/BCAM/T/302	BCA Mgt OPPS Using C++
Tuesday 18/11/2025 DAY-06	2.00 PM To 4.00 PM	B.Com Sem-III rd	DSC-8/COMM/T/302	Commerce Cost Accounting - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	BCA Science Sem-III rd	DSC-15/BCAS/T/303	BCA Sci OOPs using JAVA
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Bioinformatics Sem-III rd	DSC-15/BBI/T/303	Bioinformatics Basic Biochemistry
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Biotechnology Sem-III rd	DSC-15/BBT/T/303	Biotechnology Basic Immunology
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Computer Science Sem-III rd	DSC-15/BCS/T/303	Computer Science Core Java
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Data Science Sem-III rd	DSC-15/BDS/T/303	Data Science IoT and its applications
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Forensic Science Sem-III rd	DSC-15/BFS/T/303	Forensic Science Advanced Forensic Chemistry - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Information Technology Sem-III rd	DSC-15/BIT/T/303	Information Technology Statistical Methods
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Jewellery Design & Gemology Sem-III rd	DSC-15/BJG/T/303	B.Voc. Jewellery Design & Gemology Techniques of Jewellery Making
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Multimedia & Animation Sem-III rd	DSC-15/BMA/T/303	B.Voc. Multimedia & Animation Audio & Video Editing
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Music Sem-III rd	DSC-15/BMU/T/303	B.Voc. Music Introduction to Classical Instrument - I

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Theatre & Stage Craft Sem-III rd	DSC-15/BTS/T/303	B.Voc. Theatre & Stage Craft Folk Theatre of Maharashtra - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Analytical Chemistry Sem-III rd	DSC-7/ANA/T/303	Analytical Chemistry Analytical Techniques - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Botany Sem-III rd	DSC-7/BOT/T/303	Botany Plant Physiology
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Chemistry Sem-III rd	DSC-7/CHE/T/303	Chemistry Physical Chemistry - I
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Computer Science Sem-III rd	DSC-7/COM/T/303	Computer Science DBMS with SQL
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Electronics Sem-III rd	DSC-7/ELE/T/303	Electronics 8086 Microprocessor
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Environment Science Sem-III rd	DSC-7/ENV/T/303	Environment Science Solid and Hazardous Waste Management
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Geology Sem-III rd	DSC-7/GEO/T/303	Geology Basics of Structural Geology
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Instrument Practice Sem-III rd	DSC-7/INS/T/303	Instrument Practice Operational Amplifier & Its Applications
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Mathematics Sem-III rd	DSC-7/MAT/T/303	Mathematics Integral Transform
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Microbiology Sem-III rd	DSC-7/MIC/T/303	Microbiology Microbial Chemistry and Sterilization
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Physics Sem-III rd	DSC-7/PHY/T/303	Physics Electricity & Magnetism
Tuesday 18/11/2025 DAY-06	2.00 PM To 3.00 PM	Zoology Sem-III rd	DSC-7/ZOO/T/303	Zoology Genetics
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/DRA/T/305	Drama Introduction of Natyashastra - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/ECO/T/305	Economics Economics of Human Development
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/ENG/T/305	English Remedial Grammar
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/HIN/T/305	Hindi Hindi Filmy Geet Samiksha
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/HIS/T/305	History History of Modern Maharashtra (1818-1905)
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/HOM/T/305	Home Science Decision Making & Resource Management
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/MAR/T/305	Marathi Marathi Chitrapat Geet Aakalan va Samiksha
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/MUS/T/305	Music Forms of Semi Classical Music - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/POL/T/305	Political Science Political Party System in India
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/PSY/T/305	Psychology Mental Disorders
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/PUB/T/305	Public admin. Indian Administration System
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/SAN/T/305	Sanskrit Darshansasta Parichayah

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.A, Sem-III rd	MN-1/SOC/T/305	Sociology Society structure and change
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	BBA Sem-III rd	MN-1/BBA/T/305	BBA Consumer Behavior
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	BCA (Mgt.) Sem-III rd	MN-1/BCAM/T/305	BCA Mgt Goods & Services Tax (GST)
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	BCA Science Sem-III rd	MN-1/BCAS/T/305	BCA Sci Fundamentals of Cloud Computing
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B. Com. Sem-III rd	MN-1/COMM/T/305	Commerce Business Mathematics & Statistics - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Bioinformatics Sem-III rd	MN-1/BBI/T/305	Bioinformatics Cytology
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Biotechnology Sem-III rd	MN-1/BBT/T/305	Biotechnology Mendelian Genetics
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	B.Sc. Computer Science Sem-III rd	MN-1/BCS/T/305	B.Sc. Computer Science Basics of Python
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Data Science Sem-III rd	MN-1/BDS/T/305	Data Science Data Repository
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Forensic Science Sem-III rd	MN-1/BFS/T/305	Forensic Science Forensic Biology - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Information Technology Sem-III rd	MN-1/BIT/T/305	Information Technology Web Development - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Jewellery Design & Gemology Sem-III rd	MN-1/BJG/T/305	B.Voc. Jewellery Design & Gemology Economic Minerals
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Multimedia & Animation Sem-III rd	MN-1/BMA/T/305	B.Voc. Multimedia & Animation C & C++ Programming
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Music Sem-III rd	MN-1/BMU/T/305	B.Voc. Music Introduction to Maharashtrian Folk (Vocal & Instrument - I)
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Theatre & Stage Craft Sem-III rd	MN-1/BTS/T/305	B.Voc. Theatre & Stage Craft Acting Theory - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Analytical Chemistry Sem-III rd	MN-1/ANA/T/305	Analytical Chemistry General Concepts of Analytical Chemistry
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Botany Sem-III rd	MN-1/BOT/T/305	Botany Plant Resources - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Chemistry Sem-III rd	MN-1/CHE/T/305	Chemistry Chemistry of Solvents
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Computer Science Sem-III rd	MN-1/COM/T/305	Computer Science Programming Methodology using C
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Electronics Sem-III rd	MN-1/ELE/T/305	Electronics Linear Integrated Circuits
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Environment Science Sem-III rd	MN-1/ENV/T/305	Environment Science Environment Management System
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Geology Sem-III rd	MN-1/GEO/T/305	Geology Basic of Rock Textures and Structures
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Instrument Practice Sem-III rd	MN-1/INS/T/305	Instrument Practice Basic of Sensors
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Mathematics Sem-III rd	MN-1/MAT/T/305	Mathematics Numerical Analysis - I
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Microbiology Sem-III rd	MN-1/MIC/T/305	Microbiology Analytical Bio-techniques

Examination Date & Days	Examination Time	Name of Examination Course/Class	Course Code/ Paper Code	Course Name/Subjects Title
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Physics Sem-III rd	MN-1/PHY/T/305	Physics LASER Physics
Thursday 20/11/2025 DAY-07	2.00 PM To 3.00 PM	Zoology Sem-III rd	MN-1/ZOO/T/305	Zoology Human Parasitology
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/DRA/T/306	Dramatics Introduction of Folk Theatre - I
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/ECO/T/306	Economics Poverty and Unemployment
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/ENG/T/306	English Study of English Poetry
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/HIN/T/306	Hindi Hindi Chyawadi Kavita
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/HIS/T/306	History Twentieth Century Maharashtra (1905-1960)
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/HOM/T/306	Home Sci Budgeting & Management
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/MAR/T/306	Marathi Bhasantara Sankalpana aani Svarupa
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/MUS/T/306	Music Introduction to Flute - I
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/POL/T/306	Political Sci International Organizations
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/PSY/T/306	Psychology Psychotherapies
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/PUB/T/306	Pub Admin Introduction to Maharashtra Administration
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/SAN/T/306	Sanskrit Paniniya Siksa Parichayah
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B.A Sem-III rd	MN-2/SOC/T/306	Sociology Social Psychology
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	Bachelor of Business Administration (BBA) Sem-III rd	MN-2/BBA/T/306	BBA Product & Brand Management
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	Bachelor of Computer Application (Management) Sem-III rd	MN-2/BCAM/T/306	BCAM Mathematics
Saturday 22/11/2025 DAY-08	2.00 PM To 3.00 PM	B. Com. Sem-III rd	MN-2/COMM/T/306	Commerce Financial Management - I
Saturday 22/11/2025 DAY-08	9.00 AM To 12.00 PM (Department Level)	B.A/B.Com/B.Sc (All)/BCA (Mgt.)/BBA/BCA Sci./B.Voc Sem III rd	CC-3/PHYE/T/312	Physical Education Health and Wellness
			CC-3/YOG/T/312	Yoga Education
			CC-3/NSS/T/312	NSS
			CC-3/NCC/T/312	NCC
			CC-3/CUL/T/312	Cultural Activity


COE




PRINCIPAL